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o e Y
g ¢-150m — ik B 1,00, 1.00 ®-5cm ik B ®-150m E
. — © \® @&7
| e — 1.0% o 1.0% | o 1. 2% 2
—7 * E— — — — N I —
FH=21.00 i = —— _— o iy S 1l F
XK L\ A
LB~ 5 DKL Bt (H) \ B (D Bt ()
(L-200) L=14.20m
(R5 L= 5.10m) (R7 L= 9.10m) 23.30 . 13.20
(L-300) L=19.90m \L
(R5 L= 9.70m) (R7 L=10. 20m) 5.00 1 13.50
18.00 18.50
1.50 36.50
9.10 10. 20 9.70 5.10 1.50
(L-200) (L-300) (L-300) (L-200)
]
B, B, B,
_ ,ﬁégI@ ,ﬁégI@ ,ﬁégI@
i — m ) —
\1 No. 16 \N(l)gl/ No. 18 No. 19 No. 20 No. 21 \/
19.50 20. 00
39.50
2.50=6x {(2x18.00+19.50) x1.63+(18. 00+2 x 19. 50) x 0. 50} = 49.57 X E R 0.30x1.50x23.30 = 10. 49
(% 5~15cm)
0.30=6x {(2x0.30+0.90) x0.64+(0. 30+2x0.90) x0.50} x1.0 = 0.10 (-
(0.64+0.77) =2x0.30x0.30x1.0 = 0.06 (- 0% H B 1 #4 (0.30+1.50x1.011+0. 30) x23.30+0.30%x1.50%x1.0
(t=10mm)
Hi 49.41 m3
B i # B (0.50+1.63) ~2%x2.50%x2.0 =
(t=10mm)
(19.50+18.00) =2x2.50 % (1.044+1.011) = 96. 33
(0.50+1.63) =2x2.50%x1.0 = 2.66 Z 5 #HEH
it 98.99 m2

(A THREMEICIFHREHIEM ZRERET )
BEEE{LE=—/)LVPE d-bcm t=4. 1mm
1.31x17.0 = 22.21
BEIE{EE=—/)LVPE ®-15cm t=8. 9mm

1.31x1.0 = 1. 31

m

fEHIE £

5B % F

aLy—bE

(0.50+1.63) +2x2.92x1.0+1.63x 18. 00

SR T THBEAEHRE 300 x 300 (047 19mm

#M ®-60cm L=1.00m t=1. 6mm

TFILEZOLBEEE 400x300x10

(0.10x0.10x2.00)

m3

5.33

19. 50

{8 m

%%@5
™~
ﬂ)l&l!fuiﬁ

= 49.76 m2

m2

m

= 32.465 m2
6.0 =K
1.0 #&
1.0 #&
1.0 K

— R EEA

3

7

5

2

S
A

WWHERH =




£ K REEil 7 FE
& W vy — FEBTRAIR - HEHE
i 1T ERER SRE KIEE #8 R
EXMEE TBIREWLEX
EXmE Kbk EB
MEES £3% o 8 g R 1:100
x x E el #®
S L it B %
EAl (CA BEFTER
AR | WER E R w1
A 0.00
16 4.00 1.50 3.00
17 3.30 9.50 34.68
18 3.30 8.50 28.05
B 65. 73 m3
f&§ & | R#E0.50m ;X6 THE: L5

30. 00

20.00

#E  H

BIEETER

S = 1:500

BRL BN HDEHEHAER

A = M E 1R T = ix 1"
16 0.50
17 0. 40 9.50 4.28
18 0. 40 8.50 3.40
B 7.68 m3
IBRL BN 2) MEHER
A = M E AR T = ix 1"
16 1.30
17 0.90 9.50 10. 45
18 0.90 8.50 1.65
B 18.10 m3

\
FH=23. 50
e e ——— e =
2  — I — |
FH=21.00 2 ‘ 1 (e I ﬁ:44 4L¥:* I
\\\3 XK =~ A
EEHEtLEER 18.00
i Al E & 1,50 9.50 8.50
_ A 16
HBRLEE 9.50 8.50
- § 18
A - higs 7.00 7.00
16 17 18
21.90 21.80 21.60

B+ ErF BA) BEFER
WA | wEE | EE t
A 0.00
16 43.00 4.00 86. 00
17 158. 30 7.00 704. 55
18 169. 30 7.00 1, 146. 60
20 22.50 7.00 671.30
21 18.20 7.50 152. 63
B 6.70 6.30 78. 44
C 4.50 8.70 48.72
D 0.00 10. 30 23.18
5 2,911.42 m3
Bt a5
////\\\\\\
—
S

2,911.42 + 7.68 + 18.10 = 2,937.20 m3
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F & S0 7
% L NCHIBEIEER
1T ih BEREE FMNE KIGHE 8 X
e 3 S #1BAEILEXE y N = e = A
BEWMA X B i = Ik B
KE&ES £33 0O 9 R 1:100
I @
= x x % ® #
5 = & # = # 12. 40
5.00 0.40 7.00
FH=30. 30
(X2 | | | | | XX sem (=12.00n
i BB T ) | | | 28¢E L=10.00m
8 0tk FHe26.80 KX | | | | XX 1&E L= 9.00m
4.00 6.00
0.70 9.00 Jo.70
1.00 10. 40 1.00
T E 5
2-3
0]
D 2-2' S
0.70 9.00 0.70
1.00 10. 40 1.00
12. 40
O 22
NTRITEIEAIK
/
12. 40 y
\ /
N\ /
22
30.00 ©
Ii i QQ 3EXB L=12.00m
K2 288 L=10.00m
KL XK 1§ B L= 9.00m
9.00
10. 40
fEHl - ERLER 1.00 10. 40 1.00
2 A 2B

{8 m

0.25

0.25

1.50

0.50

0. 06m2

0.25

0.80

0.25

T
1.05

N8

(AT E#)

Ot By L #4

(t=10mm)

fEEIE L

Tg
=)

Bl @

0.50

08 tH 7 AE 44

XLEEEORIE & ImdR

0.50

O H By LE #4

n)
oul
Ok

KTENBEETLERATREDSA.
AHEOE@. TH. AEARVARLLIBRENEET 85,

(2.00x0.50x0.80)

(1.00x0.50x0.80)

10.0 #&

2.0 #%

8.0 #%

(6.0 #0)

§5110. 04% (20. Om)

Efa

MTH(10.0m + 12.0m) x 0.50 = 11.00 m2 (2. 0%&/10. Om24+ /&)

2. 0% ( 2. Om)

(2, 3E%H) 0.50x (10.00+12. 00) = 11.00
(3#55) 0.80%0.50x8.0 - 390
Hi 14.20 m2
(1.00+0.70) x2x0.80 = 2.72 m2
MEIBESER
Al o= BrmEiE T R K B
2" -A 0.00
2 1. 40 1.00 0.70
2 1. 40 10. 40 14.56
2'-B 0.00 1.00 0.70
H 15.96 m3
B & ##80.30m %5, 6% TEH: L5 X

XETER LR E&ES35-16

i

FE 11204 (22. Om)

RIEIER LHEHER
(BA' 1)

A R HTEiR E K ® &
2" -A 0.00

2 0.20 1.00 0.10

2 0.20 10. 40 2.08
2'-B 0.00 1.00 0.10

&t 2.28 m3

XETER ISR EES35-16

Bt

st

122.21 + 2.28 + 1.32 + 8.80

134. 61

BEEE

(BA)

FEHERL

(BA’ 2)

m3

12.10x10.10 = 122.21 md
(LR T F1918)
(2xB)  0.06x10.00 = 0.60
(3kB)  0.06x12.00 = 0.72
&t 1.32 m3

0.50%0.80x (12.00+10.00) = 8.80 m3
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& =N =, £ N
£ OE 450 7 FEE EEER O THUEL S.55F%E&N0. 9oy ) — bR THIEL
1T ERER B8N 2 =3
EEME #HEIWLEE
1.10 1.30 0.15
$¥Fﬁ'% j( BI% iﬂ’, ijZ *}f‘i Eﬂi % 0.15 0.80 0.15 1.24 9.00
0.10] |, 060 | [0.10 3.70 0. 60, 4.70
NE&Es £35 @ 10 w R = ‘
® x x e T # 1 — g
& & i3 it & 7 sl s
$=1:200 < ° 7.30
T mEE
- 0.70 7.30 1.00
= : 7 T
o — Qv — REREEL
S. 55B%5%No. 3+ B8 T | - e {1.09x0. 70=2+ (1.09+0. 96) =2 x 0. 45} x 0. 15% 2 - 0 25 IV — FERUEL 2.50=6x {(2x7.30+9.00) x 1. 30+ (7. 30+2 x 9. 00) x 0. 30} = 15. 95
0.30%0.30 % 3. 1422 x (0. 30+0. 42) =2 = 0.05 (-
__MQL (1.10x0.45—0.30 x 0. 30 x 3. 142+2) x0. 15 = 0.05
— 5t 15.90 m3
L 0.60 J © (1.00+0.96) ~2x 0. 15x0. 80 = 0.12
1.10 e
AR BT - B 0.42 m3
S. 55BFENo. 9+ BZ T HYHE L S.55B%E%No. 2, 8a o0 ) — X BIHIEL - EE
$=1:100
\ ol fE R A E
(BRiEL) (BE)
ZOTHEL 1.20
?_1 0.90
0.60 0.30 0.30
2\ -1 - - Eﬂ S g
S. 55B%5%No. 2+ B8 T y T S e
= - =Y I 0. 41 s 0.41
> > 0.51 > 5 0.51
) X \L(- J OOL 0.62 dOL 0.62
S. 56BEaENo. 2+ B8 T s s
S. 558%5%No. 1+ 88T
-1\
\ @ aLE— FKEREE S. 55EFERNo. 8+ B T aVh ) — REEEL (0. 30+0. 62) =2 x0. 90 x 1. 20 = 0.50
\ L=18. 00m €:35)
0.30=6x {(2x0.60+1.20) x 0. 41+ (0. 60+2 x 1. 20) x 0. 30} = 0.09 (-
o 4 I\ 0.30%0.30%3. 1422 x (0.51+0. 62) =2 = 0.08 (-
) 3 5 6 7 8 9
. 1 5 0.33 m
avy)—MEE
S.55BkZENo. 1oy ) — B IHREL - #BE avhy—k (0. 30+0. 62) =2 x0.90 X 1. 20 - 0. 50
$=1:100 0.30+6x {(2x0.30+0.90) x 0. 41+ (0. 30+2 x 0. 90) x 0. 30} = 0.06
T & Bl & @ & (0. 41+0. 51) ~2x 0. 30 0. 30 = 0.04
(Enig L) (#F)
1.20 £ 0.40 m3
0.90
0. 60 0.30 0.30
9.0\ 2 2 2
IN U 1.20x 0. 90 (1. 044+1. 005) = 2.21 m2
gl o 0.46 ol el 1 0.42
> > T 2 : 0.54
\L(- 4 S| [Xom doL 0.66
s & = g & SRR 0.62x1.20 = 0.74 m2
(FyvEUH)
aVh ) —REREL (0. 30+0. 66) =2 x 0. 90 1. 20 = 0.52
(Ref5) =n N ]
(0. 30+0. 46) =2 x 0. 40 x 0. 60 = 0.09 (- S.56B%%No. 1>y — B THUEL
B 0.43 m3 $=1:100
avy)—MEE E@AE X B & X
(Enig L)
aryy—*F (0. 30+0. 66) ~2x0.90x 1. 20 = 0. 52
0.30=6x {(2x0.30+0. 90) x 0. 42+ (0. 30+2 x 0. 90) x 0. 30} = 0.06 (- 0.38 0.07
(0. 42+0. 54) ~2x0.30% 0. 30 = 0.04 ] N
g 0.42 m3 2 2 0.10
B B 1.20x0.90 x (1. 044+1. 005) = 2.21 m2
T EER 0.66x 1. 20 - 0.79 m2 229U —hEURL (0.07+0. 10) =2 x 0. 45 x 0. 38 = 001 m

(FvEUH)

(B#)

0.30

Al m X

(BRI L)

2.50
2.20

1.30

— MR EEA

ERSRALUMERS




g E Skl 7 FE
£ R KR THER (1)
B 1T Hb EREE ZMNE KISHE H8 X
EEMAE #18A L EE
EERMA XMt iR BB
HE&ES £33 0 1 e R 1:20
# s = P 8 B
3 = = it [ -
& (A
TEE BIEE
0.72 0.72
s| Qo 0.60 Q.06 0.06 0.60 0.06
T —\ |
SR= ‘ 0.54 W ‘ ‘ o \ ’
dJ 0.30 ° ‘ \ /
[ ~ \ J
— g‘ T Lo. 30 - 0. 30J
_ — L2 ] ) 0.654
1.32
H B2 =
N - 1] 3
M (Z B 100 1@
( 600600 )
i Al 1.15 m3
EEmET L 0.42 m2
pi: | L 0.81 m3
& @B
L
1.07
1.10 0.77
0.15 0.80 0.15 0.62 0.15
0.21 038 0.2 I
| | | - 7
‘ | _1 _ | —t 1< 0.50 _A
| 030 l 0.30 J 8| o 0.30
\ 0. 46
1.10 0.61
1.70 0.91
|
1.10
0.15 0.80 0.15
I I #HEx (.0EHY)
_ ‘_ — avHy—k 0.22 m3
= o 3 - TR ™) 240 m2
0.80 | 2 =
‘ i Hl 0.93 m3
|
7 = FEHIE L 0.67 m2
|
B R L 0.51 m3
0.38

0.40
0.35

0.55
0.40

0.55

0.15
0.15

0/05

|

8 m

0. 60

0.55
0.40
0.45
0.05

0.15

1.18

222 1.06

1.02

1.04

7@3
15

0.15
0.10

S
A

0.15

1.17

| AN

0.75

0.15

0.30
1.10
1.70
* mE

1.10

0.15, 0.80
o~ ‘ o~
o~ o~
IS . S

3 ‘ 8
| » 0.80 | < w
[3e) o~
S ‘ S

|

1.22
1.27
1.47
S. 55B%E&No. 3T
& H(C)
il =
0.75
0. 60 0.15
0.22 0.38
|
Co60 el
3 0.30 J S
0.75
1.05
HEXR (1LOEHY)

avy)—+ 0.22 m3
Eid) % 2.53 m2
1iE Al 0.98 m3
EaEt L 0.83 m2
# R L 0.53 m3

1.10

0.80 0.15

0.38 0.21

S=1:20

1.00

.15

| o030
%

0.15

1.30

1.70

1.36

1.51

8 @
1.24 0.15
1.51
1.43
1.21
1.13
8
o
-
> 1.06
° - L% __ |
N
‘ S| s| °| 3
4 o
___ 0
0.92 LLL w0
0.90 | 0.30 ‘ S
4 1125 el - 0
% S ST e - s
1.05
1.10
1.15
1.35

HEHE (1.0EHY)

avyy)—+ 1

1.00

1.24
1.30

(.

(.

e
®

1.39

0.15

\\/k NS

0.15
0.15

.:

(1.

(0.

maA®a (1

(B4cmA )

i il A
(1.
fEHIEE (

i

Al
-

(.

.18x0.60+2+ (1.18+4+1.02) +2 x 0. 55} x0.15

.06x0.60+2+ (1.06+0.90) ~2 x 0. 55} x0.15

10x0.55—0.38x0.45) x0.15

04+0.92) +-2x0.15x0. 80

.18x0.60+2+ (1. 18+1.02) +2 x 0. 55} x 2

.06x0.60+-2+ (1.06+0. 90) -2 x 0. 55} x 2

10+0.80) x0.55—0. 38 x (0. 45+0. 40)

55+0.45) x0.15x2

.245+1.125) +2x1.30

.554+1.43) +2x0.55x1.70

245+1.125) +-2x0.15x 1. 30

.22+1.10) +2%1.30

25+1.13) x0.55x0.30

—RRAEEEA
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F )3 BrEi| 7 FE
£ 1 KB THEER (2)
1T i BEREE FNE KIEHET 8 ¥
RXME (- RZIRT I S No. 1~7U&! 5 2 /KI8T No.9, 11, 12U0%! 5 DKL No. 10UE! k5 KI8T T @® T E T
EEHA K 5 ik B B B . _ _
_ W00 $=1:10 2 _ W00 $=1:10 #-200 $=1:10 $=1:20
1:10 /\
= :* > > ol v
Eﬁ%"? é 3B D 12 !ﬁﬁ R 1:20 ‘/El)l/’)'l— 0,38 1 00 ?IE z 0,60 Efﬁ ﬁ
E3 x B H 7 0.30 , \ 0.30 0.27 , 0.03 0.30 , 0.27 , 0.03
= 1T it X - / ‘ 0.20 0.20 0.40 382 (0. 30 x 0. 30)
e il — S ~
g o .\.Q
o |2 S| 4 \A 3
| @0 \ 0 LG 0. ‘03 _ 0.30
B & L=15cm 1.20 0.60
_ = 0.20 0.20
La_ﬂ_] ~ W 77}(&%1 0.40 0.40
$=1:10 0.%0
L-200 L-300 - w8 & (10.00m%y) M B & (10.00n%Y) T E+ ETHESE (100 00mYY)
. e kS5 T 10.00 m N 10.00 m 2 W M %k <t & By M B2 W OE
0.20 0.30 " iR z 5k 2 _
= \IL t el =
H B x (10.00mY) B o 10.00 m at 10.00 m g =z £ &30cm 1E30cm m2 188. 1
N 10.00 m AN K IE 1.20 m3 AN B K IE 1.20 m3 B = £ &15¢m 1004/ * 82.5 5AK/1#
}p ) SaNg— 10.00 m # R L 0.30 m3 # R L 0.30 m3
°ls < 3| . ® 2 10.00 m
/ i 2 ( 130cm )
/ AR A -
/ ( R4emBAT ) 0.7 m3 % 0 I(B)
/ EfF 4.26 m3
0.20 2] - 5JE W-300H $=1:20
Em 3.51 m3
0.30 Bl & Ny 8l &
M B &£ (10.00mHY) -} 500 m2
*.‘Eﬁ”ﬁﬁ:i 0.15 1.38 1.10 1.22 0.15
K 5 - 10.00 m %l % ﬁ (10 OOméi U) % #% 300 m2 1.65 0.15 0.80 0.15 1.49
1.57 0.21 0.38 0.21 1.41
K5 D 10.00 m # R L 1.40 m3 1.3 119
1.27 1.1
P N
Bk K F5 LIE hR s s
(W-3008) | ~ S 2 | | N 2 P _te |
$=1:20 $=1:10 g o | | | % | ol S
BRI L 0. oL é_ _aw | | | | __ow LT
€3 EPPUESY) 0.30 0.38 0.30 2 - Lo 2 00 =& 2
0.59 0.05 0.49 | 0.05 FJILR = L 0.% - o Lo 0.3 J = =2 | 0.3 J =
0.05 | | 0.49 .| 005 ‘ 0.30 ‘ z z
- 0.30 . _
& \ o 1.19 1.10 1.03
= A S 1.49 1.70 1.33
11 |
+——|e | * —
° | | g T EE WEHE (1. 0ENY)
8 +— ¢| | | |¢
/
: | | Ve
° | aryy—+k {1.20%0.60=2+ (1.204+1.04) =2 x 0. 55} x 0. 15 = 0.15
| . . 0.30
i | ‘wIAVTU—F 0.78 M2A—ILF7 v Hh— [1.04%0,60=2+ (1. 0440, 88) =2 x 0. 55} x 0. 15 - 0.13
IL\%*Tﬁ}}‘ _ /
= S. 55BRZ&No. 8L BT (1.10x 0. 55—0. 38 x 0. 45) x 0. 15 = 0.07
wEHE  (1.0%&Y) (1.0640.90) =2 x0. 15x 0. 80 =012
_ B 0.47 m3
—_ /\
B 7K 7 Ak hir (t=10mm L=1.00m) 300F 1.0 #& T
(&8 )—1HF)
_ B # {1.20%0.60+2+ (1. 20+1.04) +2x 0. 55} x 2 = 1.95
2ATFULR
-~ — ‘go s
T—N72h (M12 L=80mm (0MEITIA#) 6.0 & ', > {1.04x0.60=2+ (1. 04+0. 88) =2 x 0. 55} x 2 = 1.68
£
B - 0.80 8 8 (1.1040. 80) x0.55—0. 38 x (0. 45+0. 40) = 0.72
£ # 0.30x0.15% 4.0 =0.18 m2 - (0.55+0. 45) x0. 15 x 2 = 0.30
& 4.65 m2
‘AU 0.15x0.30x 1. 00X 2 = 0.09 m3 /
= = = ] L (1.574+1.41) =2x0.55% 1. 70 = 1.39  m3
0./38
1,10
I —
# R L (1.27+1.11) x0.55x 0. 30 = 0.39 m3
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£ K =0 7 FE
I ] KERTHEER (3)
i 4T i ERER BREA KEHE 8 R
EXME TEHBLEXE
EXMA Kkt iRk BB
MEES £3% O 13 fie R 1:20
e x x ® u #
& = =3 it £y "
% 0O T(D)
W-300FH $=1:20
E & Bl @&
1.00 0.45
1.00
0.62 015, 0.30
0.16 0.3 _ 0.16
L ) °loE — ooy
1.32
T |
1.92
0.30 1.32 0.30
0.16 1.00 L 0.16
_r_r _ _ __ \ S
‘ ‘ #HEXR (10MEHY)
e avoy—+t 0.36 m3
K ) it B 3.17  m2
(1.32)
1.00
g W 1.35 m3
\ / # R L 0.52 m3
(1.57) s
0.8 915 -
\ 0.30 /
1.22

0.30

0.15

A (D)

A

T & (W#!) 200 - 300 Bl &
1.10 0.75
0.15 0.80 0.15 0.60 0.15
0.21 0.38 ., 0.2 0.22 0.38
T T | 0383 ., 027
| ] I T
‘ % ‘ V s g
Sl | | | = ] SHE
. L — = — Tow -
sy 8 | 030 l 0.30 J 8 0.30 J =
1.10 0.75
1.70 1.05
F &
1.10
L 0.80 18 B EE (1.0ELY)
avsy—t 0.21 m3
5 | . B g 2.53 m2
o Z 2 w Al 0.98 m3
R = 0.80 |
S | S EME L 0.83 m2
|
S % # R L 0.5 m
0.‘38
w I
300 F $=1:20
£ f @
1.40 0.20
0.21  0.30 0.38 0.30  0.21
I S B ® (.0EHY)
- \ \
! : — avsy—t 0.24 m3
l : e ‘ ‘ BB 2.80 m2
: : . \
z 7] I:j 0.80 m3
CA= 1.00 m2 2 ‘ As # R L 0.60 m3
o @@B
- L 0.30 0.30 J
0.80

At (H)

L% ~3 2200 - 300M

S=1:20
£ @
1.10 0.77
0.15 0.80 ,0.15 0.62 0.15
0.46 0.16
0.33 0] 29
N ! N
=] o B R o - =]
© " © o "’\ ©
S - ‘ S - 0.35 S
o = \ _ —]
2 | 0.50 gk
S \ © 2 S
T S o
0.46
* m 0.61
1.10
0.15 0.80 ,0.15
I ‘ ‘( #EXR .EZY)
Q - —
s ‘ - avol)—+k 0.21 m3
< 3 e
S 0.80 | © g ©
(=23 o . J
s = j s| y°|8 BB 2.40 m2
o © e
j s
w© { o
o J o
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=3 E =0 7 FE
& W KER THEER (4) No. 8UE! k5 J/KEET
i 17 BEREE SR KBE Y R § = 1:100
EXMB BT IRAEWLE %
=% o XMt REEB F\G ¢
"/\\%,2 0.09
<0
Hm&ES £33 0 14 e R R
(;5&5'50 P
E:d x E3 % ET] g i
& & E i E: ~ — % % s L %,
R 7 el & ) 3
N
2 A ~n— s — - L= 2 0% LI—_
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